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5. ysoy&ysoy&ysoy&ysoy&3    [ izoDrk ds fy,izoDrk ds fy,izoDrk ds fy,izoDrk ds fy, ]    
Hkkx&I  % cky fodkl o f'k{kk 'kkL= [ç'u 1 ls ç'u 30]    
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Kku ,oa vfHkKku % 10 iz'u½ 
Hkkx&IV % vFkZ'kkL= [ç'u 91 ls ç'u 150] 

        
5. Level–3 [ For Lecturer ] 

PART–I : Child Development and 

                                      Pedagogy  [Qn. 1 to Qn. 30] 

PART–II  : Language : [Qn. 31 to Qn. 60] 

  (Hindi : 15 Qn. & English : 15 Qn.)  

PART–III : General Studies : [Qn. 61 to Qn. 90] 

  (Quantitative Aptitude : 10 Qn, Reasoning 

Ability : 10 Qn, G. K. & Awareness  : 10 Qn.) 

PART–IV : Economics [Qn. 91 to Qn. 150] 

iz'u&iqfLrdk Øekad ,oa vks-,e-vkj- Øekad 
Question-Booklet Serial No. & O. M. R. Serial No. 

SET – A 
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H kk xH kk xH kk xH kk x – I / PART – I 

c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L=c ky fo d k l o f 'k {k k 'kk L= / CHILD DEVELOPMENT AND PEDAGOGY 

fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %fu ns Z 'k  %  f uEufy f[ kr iz'uk s a d s m Ù kj ns us d s f y, l c ls m fprl c ls m fprl c ls m fprl c ls m fpr     f od Yi pq f u,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

1. lk ek ftd  :i l s o a fp r cPpk s a d s fy, fd l 
iz d kj d h f'k {kk m i; q Dr gk s xh  \  
 

1) v u kS ipkf jd  f 'k{k k 

2) f of 'k"V f 'k {kk  

3) l eko s'kh  f 'k{kk  

4) /k kf eZ d  f'k {kk 

  

1. Which type of education would be 

appropriate for socially deprived 

children ? 

1) Informal education 

2) Special education 

3) Inclusive education 

4) Religious education 

2. fu Eu fyf [k r es a ls dkS u &l k d F ku ,f jDlu 
d s eu ks&lk ek ftd  fo d kl fl) k a r ds 
v Ur xZ r f d 'kks jk oLF k k d s la c a/k esa lghlghlghlgh  
gS \ 

1) vga&igpku ,d /kukRed euks&lkekftd 
igyw gSA 

2) vga&igpku ,d _.kkRed euks&lkekftd 
igyw gSA 

3) v ga&igpk u , d  rV LF k e uk s&l ke kft d 
igyw gSA  

4) v ga&igpk u d k s bZ eu ks&lke kf td  igyw 
gh u gh a gSA  

  

2. Which of the following statement is 

correct regarding adolescence, 

under Erikson's Psycho-social 

development theory ? 

1) Ego-identity is a positive 

psycho-social aspect. 

2) Ego-identity is a negative 

psycho-social aspect. 

3) Ego-identity is a neutral 

psycho-social aspect. 

4) Ego-identity is not just a 

psycho-social aspect. 

3. , d  l tZ u'k hy ck yd  e sa fuEu fyf [k r esa ls 
d k S u&lh  f o'k s "kr k u ghau ghau ghau gha  ns [k h tkr h gS \ 

1) v ilk jh  f pa r u 

2) v f r ftK kl k 

3) m Pp d Yiuk, ¡ 

4) ijEijk xr f op kj  

  

3. Which of the following characteristic 

is not seen in a creative child ? 

1) Divergent thinking 

2) Extreme curiosity 

3) High imaginations 

4) Conventional thoughts 
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4. fu Eu fyf [k r es a l s d kS u&lh  f o'ks " kr k  
lk ek thd j. k d h iz fØ ;k ij ld k jkRe d  
izH kko u ghau ghau ghau gha Mk yr h gS \ 

1) l kek ftd  :i ls Loh Ñ r O;o gk j 

2) Lo hÑ r lke kf td  H kw fe d k,¡ fu H kku k 

3) l kek ftd  v f H ko` fÙ k d k  f odk l 

4) l kek ftd  iw o kZ xz gk s a d k f od kl 

  

4. Which of the following characteristics 

does not have a positive effect on the 

process of socialization ? 

1) Socially approved behaviour 

2) Playing approved social roles 

3) Development of social attitude 

4) Development of social 

prejudices 

5. o k; xk s V~Ld h  d k ^ leh iLF k fo d kl  {ks= * 
la nfH k Z r d jrk  gS % 

1) c Ppk Lor a = :i l s D; k  d j l d rk    
gS 

2) c Ppk Lo ra =  :i ls D; k  ugha d j 
l d rk  gS 

3) c Ppk fd lh Kk uh O; fDr d s fu ns Z'ku  ea s 
D; k d j l d rk  gS 
 

4) c Ppk fd lh Kk uh O; fDr d s fu ns Z'ku  es a 
H k h D; k ugh a d j ld r k gS 

  

5. Vygotsky's 'Zone of Proximal 

Development' refers to : 

1) What the child can do 

independently 

2) What the child can't do 

independently 

3) What the child can do with 

guidance of knowledgeable 

person 

4) What the child can't do even 

under guidance of 

knowledgeable person 

6. ; fn d k sbZ f 'k{k kF kh Z v is f{kr m iy fC/k  gkfl y 
u gh au gh au gh au gh a  d j ikr k gS] rks m l d k d kj. k tk uus 

d s fy, fd l iz d kj d k ijh{k .k  f d ;k  t krk 
gS \ 

1) jpu kR ed  

2) f unku kRe d 

3) m ip kjkR ed   

4) ; ks xkRe d  

  

6. If a learner does not  achieved the 

expected performance, what type 

of testing is done to find out the 

reason ? 

1) Formative  

2) Diagnostic 

3) Remedial  

4) Summative 
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7. ^^ l ek os'ku  d s oy  fnO; ka x y ks xks a rd gh 
lh fe r ugha gS]  c fYd  bl d k v F kZ f d lh  H kh 
c Pps d k cf g" d kj u gks uk  H k h gSA ** 
 f 'k{kk  e s a le ko s'ku  dk  ; g v F kZ fd lds 
}k jk Li" V fd ; k x;k  gS \ 
1) , u0  l h0  ,Q 0  2005  
2) , u0  l h0  bZ0  v k j0  V h0  
3) ; w us Ld k s 
4) ; w fu ls Q 

  
7. "Inclusion is not confined to the 

disabled but it also mean no 

exclusion of any child." 

 This meaning of inclusion in 

education has been clarified by : 

1) NCF 2005 

2) NCERT 

3) UNESCO 

4) UNICEF 

8. o ` f)  ,o a f od k l es a fd l  iz d kj d s ifjo rZ u 
gks r s gS a \ 
(a) 'k jh j d s v kd kj e sa if jo r Zu  
(b) 'k jh j d s v uq ik r es a ifjor Zu 
(c) iq jku s y {k. kk s a d k  f oy ks iu 
(d) u oh u fo'ks "k rk v ks a d k v f/k xzg. k 

l ghl ghl ghl gh   d w V d k  p;u  d hf t, % 
d w V % d w V % d w V % d w V %  
1) (a), (b) , o a (c)  

2) (a), (b) , o a (d) 
3) (a), (c) , o a (d) 

4) (a), (b), (c) ,o a (d) 

  
8. Which type of changes occur in 

growth and development ? 

(a) Change in body size 
(b) Change in body proportion 
(c) Disappearance of old features 

(d) Acquisition of new features 

Choose the correct code : 
Code :  

1) (a), (b) & (c)  

2) (a), (b) & (d) 
3) (a), (c) & (d) 

4) (a), (b), (c) & (d) 

9. fu Eu fyf [k r es a ls d kS u &l k d F ku  vf Hk izs j. kk 
d k  v f /kxe ij ld k jkRe d  izH k ko Li "V u ghau ghau ghau gha 
d jr k \ 
1) v f H kiz s j. k k l h[ kus d s O ;o gk j d k s {kh .k 

d jr h gS 
2) v f H kiz s j. k k lh [k us d s O; o gk j d ks 

f uf 'p r fn'kk  iz nku  d jr h gS 
3) v f H kiz s j. k k lh[ ku s ds O ;o gkj es a 

l fØ ; rk  y kr h gS 
4) v f H kiz s j. k k lh [k us d s O; o gk j d ks 

p ;u kRe d  cu kr h gS 

  
9. Which of the following statements 

does not explain the positive 

impact of motivation on learning ? 

1) Motivation impairs learning 

behaviour 

2) Motivation provide definite 

direction to learning behaviour 

3) Motivation energizes learning 

behaviour 

4) Motivation makes learning 

behaviour selective 
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10. d k s g~y cxZ d s uS fr d  fod kl fl) k a r ds 
v Ur xZ r uS f rd rk dh v oLF kk v ks a d k s muds 
Lr j ls lq e s fyr d hf t, % 

uS f r dr k d h  v o LF kkuS f r dr k d h  v o LF kkuS f r dr k d h  v o LF kkuS f r dr k d h  v o LF kk uS f r dr k uS f r dr k uS f r dr k uS f r dr k 
d k Lr jd k Lr jd k Lr jd k Lr j 

(a) v PNs vUr oS Z ; fDrd  l a ca/k 
 

(b) O; fDro kn ,o a fo fu e; 
 

(c) lk ek ftd  vu q ca/ k , oa 
o S ;f Dr d  v f/k d kj 

(d) lk oZH k kS fe d  fu ;e 

I 

 

II 

 

III 

l ghl ghl ghl gh  dw V d k p; u d hf t, %     
d w V % d w V % d w V % d w V %  
 (a) (b) (c) (d) 

1)  I III II I 

2) III  II III I 

3) II III  I II 

4) II  I III III 

  
10. Match the stages of morality with 

their level, under the Moral 

Development theory of Kohlberg : 

Stages of Morality Level of 

Morality 

(a) Good interpersonal 

relations 

(b) Individualism and 

exchange 

(c) Social contracts and 

individual rights 

(d) Universal principles 

I 

 

II 

 

III 

Choose the correct code : 

Code :  

 (a) (b) (c) (d) 

1)  I III II I 

2) III  II III I 

3) II III  I II 

4) II  I III III 

11. tc v f /kxed r kZ fd l h d k; Z d k s f cu k fd lh 
bPNk  ;k  mn~ns'; d s v iu s v ki gh l h[ k 
tk rk  gS] rk s mls d grs gS a % 
1) v f ojke  lh[ ku k 
2) iw . kZ lh [k uk 
3) v a'k lh [k uk  
4) iz kl a fxd  l h[ ku k 

  
11. When the learner learns a task 

automatically, without any desire 

or purpose, then it is called : 

1) Massed learning 

2) Whole learning 

3) Part learning 

4) Incidental learning 

12. fu Eu fyf [k r es a l s d k Su&lk  d F ku  t Sfo d 
v fH k iz s jd k sa d s l a ca/k  es a l gh  u ghau ghau ghau gha  gS \ 
 
1) o s lko ZH kk S fed  gks r s gS a 
2) o s tUet kr gks r s gS a 
3) os thfor jgus ds fy, vko';d gksrs gSa 
4) o s O ;f Dr d h lef LF kf r ls la ca f /kr u gha 

gks r s gS a 

  
12. Which of the following statement is 

not true regarding biological 

motives ? 

1) They are universal 

2) They are inborn 

3) They are essential to survival 

4) They are not related with 

homeostatis in the individual  
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13. fu Eu fyf [k r e s a ls d k Su &lh ijh{k k, ¡ lrr  
v kS j O; kid  ewY; ka d u  d k  vk /kk j gS a \ 
 
 

(a) f yf[ kr  

(b) e kS f [k d 

(c) O ;ko gkf jd   

(d) iz k; ks f xd  

l ghl ghl ghl gh  dw V d k p; u d hf t, %     

d w V % d w V % d w V % d w V %  

1) (a), (b) , o a (d)  

2) (a), (b) , o a (c) 

3) (a), (c) , o a (d) 

4) (a), (b), (c) ,o a (d) 

  

13. Which of the following 

examinations are the basis of 

continuous and comprehensive 

evaluation ? 

(a) Written  

(b) Oral 

(c) Behavioural  

(d) Practical 

Choose the correct code : 

Code :  

1) (a), (b) & (d)  

2) (a), (b) & (c) 

3) (a), (c) & (d) 

4) (a), (b), (c) & (d) 

14. fu Eu fyf [k r esa ls d kSu&l k d F ku c q f) 
ijh{k. k ks a d s l a nH k Z e s a lgh  ug haug haug haug ha  gS \ 
 

1) , ys Dts a M j d k ik l , yka x ijh{k .k  , d  
f u"iknu  ijh{k. k  gSA 

2) 'k kfCnd  ijh{k . k o S ;f Dr d  vF k ok 
l kew f gd  nks u ksa iz d kj ds gk s l d rs gS aA 

3) v f 'k f{k r O ;f Dr fu "iknu ijh{k . k u gha 
d j ld r sA 

4) v 'kk fCnd  ijh{k . kks a e s a c q f)  d k ek iu 
f p=k s a , o a v k Ñ fr ;k sa } kjk gksr k gSA 

  

14. Which of the following statement is 

not correct in reference to 

intelligence tests ? 

1) Alexander's Pass along test is a 

performance test. 

2) Verbal test can be either 

individual or group. 

3) Illiterate people cannot do 

performance test. 

4) In non-verbal tests intelligence 

is measured through pictures 

and figures. 
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15. fu Eu fyf [k r es a ls d kS u &lk ;q X e fxyQ k s MZ ds 
f= v k; ke h cq f )  fl ) ka r d s v Ur xZ r c q f)  d s 
r Ù o , oa mld s v k;k e d s la ca/ k esa lgh 

u gh au gh au gh au gh a  gS \ 
 
 

c q f )  d s r Ù oc q f )  d s r Ù oc q f )  d s r Ù oc q f )  d s r Ù o v k; kev k; kev k; kev k; ke 

1) bd kbZ 

2) la K ku 

3) e w Y; ka d u 

4) la c a/k 

mR ik n 

la fØ ;k 

la fØ ;k 

fo "k; o Lrq  
 

  
15. Which of the following pair is not 

correct regarding elements of 

intelligence and their dimension, 

under the Three Dimensional 

Intelligence theory of Guilford ? 

Elements of 

Intelligence 

Dimension 

1) Unit 

2) Cognition 

3) Evaluation 

4) Relations 

Product 

Operation 

Operation 

Content 
 

16. fu Eu fyf [k r es a ls d kSu &lh c ky d s fU nz r 
v f/ kxe  n` f"V d ks . k  d h iz eq[k  fo'k s "kr k u ghau ghau ghau gha  
gS \  

1) l kF kZ d  l h[ kus d s v o lj 
 

2) , d y f'k {k. k e kxZ 

3) l rr e w Y;k a d u 

4) l q yH k f'k {k. k ls fV a Xl  

  

16. Which one of the following is not a 

key feature of child centred 

learning approach ? 

1) Meaningful learning 

opportunities 

2) Single learning pathway 

3) Continuous assessment 

4) Accessible learning settings 

17. c .M w jk d s vu q lkj] iz s{k. k kRe d  lh [k us d h 
d k S u&lh  v Ur lZ a c a f/k r iz fØ ; k, ¡ u gh au gh au gh au gh a   gS a \ 
 

1) v o/kk uk Red  iz fØ ; k, ¡ 

2) /k kj. kk Red  iz fØ ; k, ¡ 

3) iz s j. kkR ed  iz fØ ; k, ¡ 

4) l a ;ks t uk Red  iz fØ ; k, ¡ 

  
17. According to Bandura, which is not 

the interrelated processes of 

observational learning ? 

1) Attentional Processes 

2) Retentional Processes 

3) Motivational Processes 

4) Conjunctional Processes 
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18. c .M w jk d s lke kf td  vf/k xe  f l) ka r d s 
v u ql kj] tc d ks bZ O;f Dr nw ljk s a d s O;o gkj 
d k s ns [ kd j v kS j nks gjkd j o gh  O ;o gk j  l h[ k  
ys r k gS] rk s bls D;k  d gr s gS a \ 
 
1) v u q dw yu 
2) v k Re&iz s{k. k 
3) e kW M fya x 
4) l keF ; Z iz R ;k 'k k 

  
18. According to Bandura's Social 

Learning theory, what is it called 

when a person learns the same 

behaviour by observing and 

repeating the behaviour of others ? 

1) Adaptation 

2) Self-observation 

3) Modeling 

4) Efficacy expectation 

19. LV uZ c xZ d s f= ra = fl ) kar d s vUr xZ r 
?k Vd h; cq f )  es a d kSu &lk mi &? kV d  
lf Eef yr u gh au gh au gh au gh a  gS \ 
1) e s Vk  ? kV d 
2) iz ;k s xk Re d  ? kV d  
3) f u"iknu  ? kV d  
4) K ku  l a xz g. k ¼ v tZ u½  ? kV d 

  
19. Which sub-component is not included 

in componential intelligence under 

the Sternberg Triarchic Theory ? 

1) Meta component 

2) Experimental component 

3) Performance component 

4) Knowledge acquisition component 

20. , d  v f /kxe f u; ks Z X; rk  tk s v ad xf. kr h; 
d k S'ky d s v f/k xz g. k d ks izH kkf or d jrh gS % 
1) f MLd S yd q fy ;k 2) f MLxz kf Q ;k  
3) f MLys f Dl;k  4) f MLe S fXu fl; k 

  
20. A learning disability that affects the 

acquisition of arithmetical skill is : 

1) Dyscalculia 2) Dysgraphia 

3) Dyslexia 4) Dysmagnisia 

21. Ý k ;M  d s e uksy Sa fxd  fo dkl f l) ka r d h 
ik¡ pk s a v o LF kk v ksa d s l ghl ghl ghl gh Ø e  d k  p;u 
d h ft, % 
1) e q [k ko LF kk  → fya x iz/kkuk oLF k k → 

v O; Drk oLF k k → xq nko LF kk  → 
t uu sf Unz ;k oLF k k 

2) xq nko LF kk → v O; Drko LF kk  → fya x 
iz/kk uk oLF k k → tuu s fUnz; ko LF kk → 
e q [k ko LF kk 

3) e q [k ko LF kk  → xq nko LF kk → fya x 
iz/kk uk oLF k k → v O ;Drk oLF k k → 
t uus f Unz ;k oLF k k 

4) v O; Drk oLF k k → xq nko LF kk  → 
e q [k ko LF kk  → tuu s fUnz ; ko LF kk → fya x 
iz/kk uk oLF k k 

  
21. Choose the correct sequence of 

the five stages of Freud's Psycho-

sexual development theory : 

1) Oral stage → Phallic stage → 

Latency stage → Anal stage → 

Genital stage 

2) Anal stage → Latency stage → 

Phallic stage → Genital stage 

→ Oral stage 

3) Oral stage → Anal stage → 

Phallic stage → Latency stage 

→ Genital stage 

4) Latency stage → Anal stage → 

Oral stage → Genital stage → 

Phallic stage 
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22. iS oy ko d s 'k kL= h; vu q ca/k u v f/k xe 
fl ) ka r d s v uq l kj Lo kH k kfo d  ,o a vu q caf /kr 
m íh id ks a d s iz Lrq r hd j. k d k d k Su&lk  d kfyd 
Ø e  l h[ ku s d k s lok Z f/kd  izHk kfo r d js xk \ 
 
 

1) l ed k fyd   

2) f oy a fcr 

3) l a d s r  

4) i'p xke h 

  
22. According to Pavlov's Classical 

Conditioning theory of learning, 

which temporal sequence 

presentation of natural and 

conditioned stimuli will most affect  

learning ? 

1) Simultaneous   

2) Delay 

3) Trace  

4) Backward 

23. fi; kts d s l aKku kRed  fod k l fl )k a r d h 
fd l v oLF k k es a v ewr Z f pa ru  rF k k 
lk ek U;h d j. k d h  {ke rk fo d fl r gks t krh   
gS \ 

1) l a os nh&xked  

2) iw o Z&l a fØ ; kRe d 

3) e w rZ&la f Ø ;k Re d 

4) v k S ip kfjd &la f Ø ;k Re d 

  

23. In which stage of Piaget's Cognitive 

Development theory does the 

ability of abstract thinking and 

generalization develop ? 

1) Sensory motor 

2) Pre-operational 

3) Concrete-operational 

4) Formal operational 

24. iz frH kk'k kyh  fo | kf F kZ ; ksa ds f y, fu Euf yf[ kr 
e s a ls d k Su&lh  'k S f{kd  O; o L F kk ugh augh augh augh a d h  t kuh 
pk fg, \ 

1) Lo ra =  iz k s ts DV d k; Z d s v olj 
 

2) R oj. k 

3) m ip kjkR ed  f'k {k. k 

4) l a o/k Z u d k; ZØ e 

  

24. Which of the following educational 

arrangements shouldn't be made 

for talented students ? 

1) Opportunities for independent 

project work 

2) Acceleration  

3) Remedial teaching 

4) Enrichment program 
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25. fu Eu fyf [k r e s a ls d kSu&lk  le ko s'kh f'k{k k  
d k  , d  fl )ka r u gh au gh au gh au gh a   gS \ 

1) i`F kDd j. k d k f l) ka r 

2) l g; ks x d k fl) k a r 

3) f of o/k rk  d k t'u eu ku s d k fl) k a r 

4) f 'k{kk  d s v f /kd k j d k  f l) kar 

  

25. Which one of the following is not a 

principle of inclusive education ? 

1) Principle of segregation 

2) Principle of cooperation 

3) Principle of celebrating diversity 

4) Principle of right to education 

26. fu Eu fyf [k r es a ls d k S u&lk  r jhd k o S ;fDr d 
fH k Uur kv k sa d s v uq lk j f'k{k .k  d k l eF kZ u 

u gh au gh au gh au gh a d jr k \ 

1) f o| kfF k Z ;ks a d k cM + k lew g 

2) o S ;f Dr d  v uq ns'ku 

3) ikB ~;Ø e v uq dw y u 

4) f o| kfF k Z ;ks a d h {ke rkv k s a d k Kk u 

  

26. Which of the following way does 

not support the teaching according 

to individual differences ? 

1) Large group of students 

2) Individualized instruction 

3) Curriculum adaptation 

4) Knowledge of student's abilities 

27. fo f'k "V v k o' ; d r kv ks a o kys c Ppks a d h 
v ko';d rk  d ks iw jk  d jus es a 'k S{kf. kd 
la LF k ku ks a d h D;k  H k w fed k u ghau ghau ghau gha   gS \  

1) f cu k H ks nH kko ds fo | ky ; es a iz os'k  ns uk  
 

2) l q yH k cq f u; knh lq f o/k k, ¡ iz nku  d ju k 
 

3) mudh fof'k"V vko';drk dks igpkuuk 
,oa eq [;/kkjk ls ckgj   j[kuk 
 

4) m Ugs a v k o'; d  lgk;r k ls o k, ¡ iz nku  
d ju k 

  

27. Which is not a role of educational 

institutions in addressing the needs 

of children with special need ? 

1) Admission to school without 

discrimination 

2) Provide accessible 

infrastructural facilities 

3) Identify their special needs 

and exclude them from 

mainstreaming 

4) Provide necessary support 

services 
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28. fu Eu fyf [k r es a ls d kSu &l k d F ku  f od k l ds 
lU nH k Z e s a l gh  u ghau ghau ghau gha   gS \ 
 

1) f od k l if jiDor k ,o a v f/k xe  d k 
m Rikn gSA  

2) iz kja fH k d  f od k l d h r q yuk es a c kn d k 
f od k l v f/k d  xaH kh j gks r k gSA 

3) f od k l f lj ls iS j d h f n'k k e s a v kxs 
c <+ r k gSA 

4) f od k l d s U nz h ; v {k  ls N ksj d h  v ks j 
c <+ r k gSA 

  

28. Which of the following statement is 

not correct in context of 

development ? 

1) Development is the product of 

maturation and learning. 

2) Later development is more 

critical than early development. 

3) Development proceeds from 

head to foot. 

4) Development proceeds from 

central axis to extremities. 

29. le ko s'kh f'k {kk d k  f =v k; ke h fl) k a r fd l ds 
}k jk iz f rikf nr fd ; k x; k \ 
 

1) f xz f Q F k] d w ij , o a f jaxyk cs u 

2) xkV Z j , o a f yILd h  

3) d k W Qe Su  ,o a gy kgu 

4) y s oa s Ld h] Ms f ol , oa gw ij 

  

29. The three dimensional model of 

the inclusive education 

propounded by whom ? 

1) Griffith, Cooper and Ringlaben 

2) Gartuer and Lipsky 

3) Kauffman and Hallahan 

4) Levenski, Davis and Hooper 

30. ^^ l ke kth d j.k  d k  vF kZ gS lke kf td  l a ca/kks a 
e s a ifjiDo rk  v ku kA**  lk ek thd j. k dh ;g 
ifjH kk "kk  f d ld s }k jk nh  xbZ gS \ 
 

1) t kW u M ho h  

2) xS js V 

3) l ks js Ulu  

4) gjykW d  

  

30. "Socialization means attaining of 

maturity in social relationships." 

This definition of socialization is 

given by whom ? 

1) John Dewey  

2) Garret 

3) Sorenson  

4) Hurlock 
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HkkxHkkxHkkxHkkx – II / PART – II 

Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½Hkk"kk ¼fgUnh ,oa vaxzsth½ / LANGUAGES (HINDI & ENGLISH) 

fgUnhfgUnhfgUnhfgUnh (HINDI) 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr fodYi pqfu,A 

31. fo'ks"k.k ds laca/k esa dkSu&lk lgh lqesfyr 
ughaughaughaugha  gS \ 

1) Hkkjrh; & laKk ls fufeZr fo'ks"k.k 

2) ifo=re & fo'ks"k.k dh mÙkjkoLFkk 

3) ifjJeh & xq.kokpd fo'ks"k.k 

4) vkyL; & fo'ks"k.k ls fufeZr Hkkookpd  
laKk 

32. fdl fodYi esa 'kCn&;qXe dk lgh vFkZ Hksn 
ughaughaughaugha  gS \ 
1) ckt+h & nko] okth & ?kksM+k 
2) es/k & gou] es?k & ckny 
3) ekf.kD; & pchZ] ekf.kD;k & eNyh 
4) eqDrk & eksrh] eqfDr & eks{k 

33. dkSu&lk ;qXe laxr ughaughaughaugha  gS \ 
1) fHk{kqd & rRle 'kCn 
2) eLrd & rn~Hko 'kCn 
3) f[kpM+h & ns'kt 'kCn 
4) vekur & fons'kt 'kCn 

34. fuEufyf[kr esa ls fdl fodYi dk 'kCn 
laf/k&foPNsn dh n`f"V ls laxrlaxrlaxrlaxr  gS \ 
1) dq'kklu = dq'k $ vlu 
2) okrkZyki = okrkZ $ vyki 
3) tkudh'k = tud $ bZ'k  
4) y?kwfeZ = y?kq $ ÅfeZ 

35. fdl fodYi ds leLr in esa cgqozhfg 
lekl dk mnkgj.k ughaughaughaugha  gS \ 
1) 'ks"k'kk;h] {kikukFk 
2) nh?kZ'okl] ik"kk.kân; 
3) vk'kqrks"k] eanksnjh 
4) iap'kj] i'kqifr 

36. fdl fodYi dk 'kCn ^vu~* milxZ ls 
fufeZr ughaughaughaugha  gS \ 
1) vuarj 
2) vuhfr 
3) vfu"V 
4) vukpkj 

37. fuEu esa ls fdl fodYi ds 'kCn fons'kt 
izR;;ksa ls fufeZr gSa \ 
1) iYyfor] uhfyek 
2) vfM+;y] dlkoV 
3) fj'or[kksj] jkst+xkj 
4) >xM+kyw] gBhyk 

38. i;kZ;okph 'kCnksa ds laca/k esa dkSu&lk 
fodYi vuqfprvuqfprvuqfprvuqfpr  gS \ 
1) pUnzek & fgedj] ve`rka'kq] egrkc 
2) x#M+ & [kxukFk] o`"kHkh] Hknzk 
3) pUnu & xksjkspu] ey;t] likZokl 
4) xaxk & vejrfVuh] vfnztk] lqjlfj 
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39. okrZfud n`f"V ls fdl fodYi ds lHkh 'kCn 
'kq)'kq)'kq)'kq) gSa \ 
1) vH;kFkhZ] R;kSgkj 
2) ;kKoYD;] gLr{ksi 
3) eSFkyh] vfgY;k 
4) oSnsfg] okfil 

40. ^egkRek xka/kh us Hkkjr dks vkt+kn djk;kA* 
mDr okD; esa js[kkafdr 'kCn Øe'k% gSa % 
1) O;fDrokpd laKk rFkk tkfrokpd laKk 
2) tkfrokpd laKk rFkk Hkkookpd laKk 
3) O;fDrokpd laKk rFkk O;fDrokpd laKk 
4) Hkkookpd laKk rFkk O;fDrokpd laKk 

41. fuEu esa ls fdl eqgkojs dk vFkZ laxr ughaughaughaugha 
gS \ 
1) vius iSjksa ij [kM+k gksuk & vkRefuHkZj 

gksukA 
2) va/ks ds gkFk cVsj yxuk & fcuk iz;kl 

ds dksbZ pht+ izkIr dj ysukA 
3) ,d ?kkV ikuh ihuk & ,drk vkSj 

lfg".kqrk gksukA 
4) deku ls rhj fudy tkuk & fdlh dk 

Hksn [kqyukA 

42. fØ;k ds laca/k esa vuqfprvuqfprvuqfprvuqfpr fodYi pqfu, % 
1) deZ ds vk/kkj ij fØ;k ds ^ldeZd* 

,oa ^vdeZd* nks Hksn ekus tkrs gSaA 
2) lHkh izsj.kkFkZd fØ;k,¡ vdeZd gksrh 

gSaA 
3) ^firk iq= ls i= fy[kokrk gSA* mDr 

okD; esa izsj.kkFkZd fØ;k iz;qDr gqbZ gSA 
4) ^cfr;kuk*] ^yfB;kuk* ,oa ^viukuk* 

uke/kkrq fØ;k ds mnkgj.k gSaA 

43. loZuke ds laca/k esa dkSu&lk dFku vlR;vlR;vlR;vlR; 
gS \ 

1) iz;ksx ds vk/kkj ij loZuke ds Ng 
Hksn gSaA 

2) ^dksbZ* rFkk ^dqN* vfu'p;okpd 
loZuke 'kCn gSaA 

3) ^iq#"kokpd* loZuke ds pkj Hksn ekus 
tkrs gSaA 

4) ftl loZuke ls oDrk ds ikl vFkok 
nwj dh fdlh oLrq dk cks/k gksrk gS] 
mls fu'p;okpd loZuke dgrs gSaA 

44. fdl fodYi esa foijhrkFkZd ;qXe vlaxrvlaxrvlaxrvlaxr  
gS \ 

1) uwru & iqjkru 

2) nqjk'k; & lnk'k; 

3) nuqt & nkuo 

4) taxe & LFkkoj 

45. okD;ka'k ds fy, ,dy 'kCn ds laca/k esa 
vuqfprvuqfprvuqfprvuqfpr ;qXe gS % 

1) tks dkuwu dh n`f"V ls mfpr u gks & 
voS/k 

2) ftlesa dksbZ fNnz u gks & uhjU/kz 

3) leqnz esa yxus okyh vkx & nkokuy 

4) tks Hkkstu jksxh ds fy, mfpr gS & 
iF; 
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vaxzsthvaxzsthvaxzsthvaxzsth / ENGLISH 

Direction : Answer the following questions by selecting the most appropriate option.

46. Fill in the blank with the correct 

option : 

Note it down ……….. you should 

forget it. 

1) that 2) because of 

3) till 4) lest 

47. Choose the correct option that 

gives the meaning of the given 

idiom : 

 Spill the beans  

1) increase work 

2) face a great loss 

3) to leak a secret 

4) segregate 

48. Fill in the blank with the correct 

option : 

The Pak army turned hostile ……… 

ISIS. 

1) to 2) for 

3) at 4) with 

49. Choose the correct passive of the 

given sentence : 

    Please give me some more time. 

1) Some more time might please 

be given to me. 

2) Some more time may please 

be given to me. 

3) Some more time could please 

be given to him. 

4) Some more time should please 

be given to him. 

50. Which of the following options 

express the correct meaning of the 

sentence given below ? 

No sooner did I reach the college 

than the bell rang. 

1) The sooner I reached the 

college the earlier the bell 

rings. 

2) I reached the college and the 

bell was rang after. 

3) Although I reached the college 

the bell began to ring. 

4) As soon as I reached the 

college, the bell rang. 

51. Change the narration : 

He said, "What a charming sight !" 

1) He exclaimed with joy that it 

was a very charming sight. 

2) He exclaimed with joy that 

what a charming sight it is ! 

3) He told with joy that that is a 

charming sight. 

4) He said to me what a charming 

sight it is ! 

52. Fill in the blank with the correct 

form of the verb : 

I …………… a lot of calls today. 

1) had have 

2) has had 

3) have had 

4) had had 
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53. Which of the following sentences is 

the correct option to express a 

probable condition ? 

1) If I were a bird, I would fly to 

you. 

2) If you touch a live wire, you 

will get a shock. 

3) If you will read this book, you 

will learn grammar. 

4) If I had reached in time, I could 

have saved her. 

54. Choose the part of the sentence 

that is grammatically incorrect : 

He thought / he will be able to do / 

  A  B 

whatever he wanted / with his job. 

 C            D 

1) A 2) B 

3) C 4) D 

55. Choose the part of the sentence 

that is grammatically incorrect : 

The Jews were / most reluctant / 

  A  B 

to contribute / in the Palestinian 

                                       cause. 

 C       D 

1) A 2) B 

3) C 4) D 

56. The word 'slither' means : 

1) lick 2) venomous 

3) hinder 4) slide 

57. Fill in the blank with the correct 

form of verb : 

When I last …………. her, she was 

deeply involved in debt. 

1) have met 2) met 

3) has met 4) did met 

58. Fill in the blank with the correct 

option : 

How did the thief …… the padlock. 

1) open 

2) opened 

3) had opened 

4) had been opening 

59. Fill in the blank with the correct 

'Modal Auxiliary' : 

…………. you mind lending me 

your pen ? (Request) 

1) Should 2) Ought 

3) Would 4) Must 

60. Arrange the following jumbled 

options in the correct order and 

then choose the correct option : 

(A) is heartening  

(B) is going abroad 

(C) the news 

(D) that she 

1) C, D, B, A 

2) D, A, C, B 

3) D, C, B, A 

4) D, C, A, B 
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HkkxHkkxHkkxHkkx – III / PART – III 

lkekU; v/;;ulkekU; v/;;ulkekU; v/;;ulkekU; v/;;u / GENERAL STUDIES 

ek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKkuek=kRed ;ksX;rk] rkfdZd vfHk{kerk rFkk lkekU; Kku ,oa vfHkKku / QUANTITATIVE APTITUDE, 

REASONING ABILITY AND G.K. & AWARENESS 

funsZ'k funsZ'k funsZ'k funsZ'k %%%% fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr    fodYi pqfu,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

61. ;fn A vius flj ds cy ij mÙkj fn'kk 
dh vksj viuk eq¡g djds [kM+k gS] rks 
mlds ck;sa gkFk dh fn'kk gS % 

1) mÙkj&iwoZ  

2) if'pe  

3) iwoZ  

4) mÙkj&if'pe  

  

61. If A stands on his head with his 

face towards North, in which 

direction will his left hand point ? 

1) North-East  

2) West 

3) East  

4) North-West 

62. ,d uko 20 fdeh nwjh dks /kkjk dh fn'kk 
esa ,d ?k.Vs esa rFkk mlh nwjh dks /kkjk dh 
foijhr fn'kk esa 2 ?k.Vs esa r; djrh gS] 
rks 'kkUr ty esa uko dh pky gS % 

1) 10 fdeh@?k.Vk  

2) 12 fdeh@?k.Vk 

3) 13 fdeh@?k.Vk  

4) 15 fdeh@?k.Vk 

  

62. A boat goes 20 km downstream in 

one hour and the same distance 

upstream in two hours. The speed 

of the boat in still water is : 

1) 10 km/h  

2) 12 km/h 

3) 13 km/h  

4) 15 km/h 

63. 15 O;fDr;ksa ds lewg esa 7 O;fDr fgUnh 
,oa 8 O;fDr vaxzsth i<+rs gSa tcfd 3 
O;fDr bu nksuksa esa ls fdlh dks Hkh ugha 
i<+rs gSa] rks buesa ls fdrus O;fDr fgUnh o 
vaxzsth nksuksa dks i<+rs gSa \ 

1) 0 2) 3 

3) 4 4) 5 

  

63. In a group of 15 people, 7 read 

Hindi, 8 read English, while 3 of 

them read none of these two. How 

many of them read Hindi and 

English both ? 

1) 0 2) 3 

3) 4 4) 5 
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64. ,d d{kk esa 35 fo|kfFkZ;ksa esa] A dk LFkku 
uhps ls 7osa ij ,oa B dk LFkku Åij ls 
9osa LFkku ij gS rFkk C dk LFkku bu nksuksa 
ds Bhd e/; esa gks] rks C dk LFkku A ls 
dkSu&lk gS \ 
 
1) 9ok¡  

2) 10ok¡ 
3) 11ok¡  

4) 12ok¡ 

  

64. In a class of 35 students, A is 

placed 7th from the bottom 

whereas B is placed 9th from the 

top and C is placed exactly 

between these two. What is A's 

position from C ? 

1) 9th  

2) 10th 

3) 11th  

4) 12th 

65. ,d fuf'pr dwV Hkk"kk esa 'CEG' dks 'TSR' 
rFkk 'FHJ' dks 'QPO' fy[kk tkrk gS] rks 
blh leku Hkk"kk esa 'IKM' dks fy[kk 
tk;sxk % 
1) NOP  

2) NOL 

3) NMK  

4) NML 

  

65. In a certain code language 'CEG' is 

written as 'TSR' and 'FHJ' is written 

as 'QPO', then in the same code 

language 'IKM' is written as : 

1) NOP  

2) NOL 

3) NMK  

4) NML 

66. v{kjksa EAML ls fdrus lkFkZd 'kCn cuk;s 
tk ldrs gSa \ 
1) 1  

2) 2 

3) 3  

4) 4 

  

66. How many meaningful words can 

be formed with the letter EAML ? 

1) 1  

2) 2 

3) 3  

4) 4 

67. ,d fu;fer cgqHkqt esa vkUrfjd dks.k ,oa 
cká dks.k dk vuqikr 7 : 2 gks] rks bl 
cgqHkqt dh Hkqtkvksa dh la[;k gS % 
 
1) 7 2) 8 

3) 9 4) 11 

  

67. The ratio of an interior angle to the 

exterior angle of a regular polygon 

is 7 : 2. The number of sides of the 

polygon is : 

1) 7 2) 8 

3) 9 4) 11 
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68. fuEufyf[kr la[;k Üka`[kyk dk vxyk in 
Kkr dhft, % 
 2, 3, 10, 15, 26, ? 

1) 33  

2) 34 

3) 35  

4) 36 

  

68. Find the next term of the following 

number series : 

 2, 3, 10, 15, 26, ? 

1) 33  

2) 34 

3) 35  

4) 36 

69. uy A }kjk ,d VSad dks vdsys 8 ?k.Vs esa] 
uy B }kjk blh VSad dks vdsys 6 ?k.Vs esa 
Hkjk tk ldrk gSA ;fn nksuksa uyksa dks ,d 
lkFk 2 ?k.Vs ds fy, [kksyus ds i'pkr~ uy 
A dks cUn dj fn;k tk,] rks uy B }kjk 
cpk VSad dc Hkj tk,xk \ 
1) 2 ?k.Vs esa  

2) 2½ ?k.Vs esa 
3) 3 ?k.Vs esa  

4) 3½ ?k.Vs esa 

  
69. Pipe A alone can fill a tank in 8 

hours. Pipe B alone can fill it in 6 

hours. If both the pipes are opened 

and after 2 hours pipe A is closed, 

then pipe B will fill the tank in : 

 

1) 2 hours  

2) 2½ hours 

3) 3 hours  

4) 3½ hours 

70. ;fn fdlh fuf'pr iSVuZ esa 38 * 15 = 32, 
62 * 91 = 7 rFkk 74 * 81 = 29 gks] rks 
mlh iSVuZ esa 47 * 33 dk eku gS % 
 
1) 40 2) 41 

3) 38 4) 53 

  

70. In a certain pattern, if 38 * 15 = 32, 

62 * 91 = 7 and 74 * 81 = 29, then 

in the same pattern the value of      

47 * 33 is : 

1) 40 2) 41 

3) 38 4) 53 

71. ;fn 17 fnlEcj] 2002 dks 'kfuokj Fkk] 
rks 22 fnlEcj] 2004 dks dkSu&lk fnu 
Fkk \ 
1) jfookj  

2) 'kfuokj 
3) lkseokj  

4) eaxyokj 

  

71. If it was Saturday on 17th 

December, 2002, what was the day 

on 22nd December, 2004 ? 

1) Sunday  

2) Saturday 

3) Monday  

4) Tuesday 
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72. Js.kh dk vxyk in gS % 
 Z1A, X2D, V6G, T21J, ? 

1) R87M  

2) R87N 

3) R88P  

4) R88M 

  

72. The next of the series is : 

 Z1A, X2D, V6G, T21J, ? 

1) R87M  

2) R87N 

3) R88P  

4) R88M 

73. vaxzsth o.kZekyk esa] nh xbZ Jsf.k;ksa esa 
Øekxr v{kjksa ds e/; NksM+s x, v{kjksa dh 
la[;k ,d ls de gksrh tkrh gS] 
fuEufyf[kr Jsf.k;ksa esa dkSu&lh bl fu;e 
dk ikyu djrh gS \ 
1) DJOTV  

2) DJOSV 

3) DJOSW  

4) DIOSU 

  

73. In English alphabet, the number of 

letters skipped in between 

adjacent letters in the series is 

decreased by one. Which of the 

following series observes the rule ? 

1) DJOTV  

2) DJOSV 

3) DJOSW  

4) DIOSU 

74. x-v{k] y-v{k rFkk 1234 =+ yx  }kjk 
fufeZr f=Hkqt ds ckáo`Ùk dh f=T;k gS % 
 
1) 2 bdkbZ  

2) 2.5 bdkbZ 
3) 3 bdkbZ  

4) 4 bdkbZ 

  
74. The radius of the circumcircle of 

the triangle made by x-axis, y-axis 

and 1234 =+ yx  is : 

1) 2 unit  

2) 2.5 unit 

3) 3 unit  

4) 4 unit 

75. og lcls NksVh la[;k Kkr dhft,] ftls 
15463 esa tksM+us ij izkIr ;ksxQy 107 ls 
iw.kZr;k foHkkftr gks tkrk gS % 
 
1) 52  

2) 55 

3) 71  

4) 76 

  
75. Find the least number which must 

be added to 15463 so that the 

resulting number is exactly 

divisible by 107 : 

1) 52  

2) 55 

3) 71  

4) 76 
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76. ikuh dks nw/k esa fdl vuqikr esa feykdj 
cspk tk, fd izkIr feJ.k dks Ø; ewY; ij 
cspus ij 20% dk ykHk gks \ 
1) 1 : 5 2) 2 : 5 

3) 3 : 5 4) 4 : 5 

  
76. What proportion of water must be 

added to milk to gain 20% by 

selling it at the cost price ? 

1) 1 : 5 2) 2 : 5 

3) 3 : 5 4) 4 : 5 

77. ,d fuf'pr jkf'k dk 4% okf"kZd nj ij 
2 o"kksZa ds fy, pØo`f) C;kt ,oa ljy 
C;kt dk vuqikr gS % 
 
1) 52 : 51  

2) 52 : 50 

3) 51 : 50  

4) 53 : 50 

  
77. The ratio of compound interest and 

simple interest on a certain sum at 

the rate of 4% per annum for 2 

years is : 

1) 52 : 51  

2) 52 : 50 

3) 51 : 50  

4) 53 : 50 

78. ;fn A, B rFkk C us 
5

6
:

3

4
:

2

7  ds 

vuqikr esa iw¡th yxkdj ,d O;kikj izkjEHk 
fd;kA 4 ekg i'pkr~ A us viuh iw¡th dk 
50% c<+k fn;kA ;fn o"kZ ds vUr esa dqy 
21,600 #i;s dk ykHk gqvk gks] rks bl 
ykHk esa ls B dk fgLlk gS % 
1) 2,400 #i;s  

2) 3,600 #i;s 
3) 4,000 #i;s  

4) 4,200 #i;s 

  

78. If A, B and C enter into a 

partnership with shares in the ratio 

5

6
:

3

4
:

2

7
. After 4 months, A 

increase his share by 50%. If the 

total profit at the end of one year 

be Rs. 21,600, then B's share in the 

profit is : 

1) Rs. 2,400  

2) Rs. 3,600 
3) Rs. 4,000  

4) Rs. 4,200 

79. ,d vkneh 20% gkfu ij ,d oLrq dks 
csprk gS] ;fn mlh oLrq dks 12 #i;s 
vf/kd esa csprk] rks mls 10% dk ykHk 
gksrkA ml oLrq dk Ø; ewY; gS % 
1) 22 #i;s  

2) 30 #i;s 
3) 36 #i;s  

4) 40 #i;s 

  
79. A man sold an article at a loss of 

20%. If he sells the article for Rs. 12 

more, he would have gained 10%. 

The cost price of an article is : 

1) Rs. 22  

2) Rs. 30 

3) Rs. 36  

4) Rs. 40 



[ 22 / A ] 

[ Level-3 / 1308 ]   

80. 

a

a

a

aa

+

−
+

−

+
−−

1

1

1

½½½

 cjkcj gS % 

1) 
1−a

a
  

2) 
2

1−a
 

3) 
1

2

−a
  

4) 
a−1

2  

  

80. 

a

a

a

aa

+

−
+

−

+
−−

1

1

1

½½½

 is equal to : 

1) 
1−a

a
  

2) 
2

1−a
 

3) 
1

2

−a
  

4) 
a−1

2  

81. ,sfrgkfld xk¡o lqx vofLFkr gS % 
 

1) vEckyk ftys esa 

2) dq#{ks= ftys esa 

3) ;equkuxj ftys esa 

4) iapdqyk ftys esa 

  

81. Historical village Sugh is located 

in : 

1) Ambala district  

2) Kurukshetra district 

3) Yamunanagar district 

4) Panchkula district 

82. fdl gfj;k.koh us vxLr] 2023 esa ekmaV 
,Yczql dks Qrsg fd;k \ 

1) lanhi fc'uksbZ  

2) jksgrk'k fc'uksbZ 

3) vt; f[kpM+  

4) eksfgr 

  

82. Which Haryanvi conquered Mount 

Elbrus in August, 2023 ? 

1) Sandeep Bishnoi 

2) Rohtash Bishnoi 

3) Ajay Khichad 

4) Mohit 

83. gfj;k.kk ds fuEufyf[kr jkT;ikyksa esa ls 
dkSu vkbZ lh ,l vf/kdkjh Fks \ 
1) Jh /keZohj 
2) Jh eqt+¶Qj gqlSu cuhZ 
3) Jh gfj vkuUn cjkjh 
4) Jh lqjthr flag la/kokfy;k 

  

83. Who among the following Governors 

of Haryana was an ICS officer ? 

1) Shri Dharma Vir  

2) Shri Muzaffar Hussain Burney 

3) Shri Hari Anand Barari 

4) Shri Surjit Singh Sandhawalia 
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84. ekS;Zdkyhu Lrwi ds lk{; izkIr gq, gSa % 
 
1) Vksijk esa 2) fHkokuh esa 
3) Fkkuslj esa 4) jksgrd esa 

  

84. The evidence of Stupa of Mauryan 

period is found at : 

1) Topara 2) Bhiwani 

3) Thanesar 4) Rohtak 

85. xhrk t;arh lekjksg fdl ekg esa euk;k 
tkrk gS \ 
1) dkfrZd esa 2) ekxZ'kh"kZ esa 
3) vkf'ou esa 4) Jko.k esa 

  

85. Geeta Jayanti Samaroh is 

celebrated in the month of : 

1) Kartik 2) Margshirsh 

3) Ashvin 4) Shravana 

86. gfj;k.kk lssok dk vf/kdkj vk;ksx ds eq[; 
vk;qDr dkSu gaS \ 
 
1) Jh Vh0 lh0 xqIrk 
2) Jh fot; o/kZu 
3) Jh jkts'k [kqYyj 
4) Jh fodkl xqIrk 

  

86. Who is the Chief Commissioner of 

Haryana Right to Service 

Commission ? 

1) Shri T. C. Gupta 

2) Shri Vijay Vardhan 

3) Shri Rajesh Khullar 

4) Shri Vikas Gupta 

87. lk/kq fu'pynkl ds ckjs esa fuEufyf[kr 
dFkuksa dks if<+, % 

(i) og nknw ds f'k"; FksA 

(ii) mUgksaus ,d iqLrd ^fopkj lkxj* 
ladfyr dh] tks laokn ds :i esa gSA 
 

lghlghlghlgh dwV dk p;u dhft, % 

1) dsoy dFku (i) lgh gSA 

2) dsoy dFku (ii) lgh gSA 

3) u rks dFku (i) vkSj u gh dFku (ii) 
lgh gSaA 

4) nksuksa dFku (i) vkSj (ii) lgh gSaA 

  

87. Read the following statements 

about Sadhu Nischal Das : 

(i) He was a Dadu's disciple. 

(ii) He compiled a book 'Vichar 

Sagar' which is in form of 

dialogue. 

Choose the correct code : 

1) Only statement (i) is correct. 

2) Only statement (ii) is correct. 

3) Neither statement (i) nor 

statement (ii) are correct. 

4) Both the statements (i) and (ii) 

are correct. 
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88. gfj;k.kk esa fpadkjk iztuu dsanz dgk¡ fLFkr 
gS \ 

1) fiatkSj  

2) ikuhir 

3) >Ttj  

4) fHkokuh 

  

88. In Haryana, where the Chinkara 

Breeding Centre is located ? 

1) Pinjore  

2) Panipat 

3) Jhajjar  

4) Bhiwani 

89. gfj;k.kk jkT; lgdkjh Ñf"k ,oa xzkeh.k 
fodkl cksMZ fy0 dh LFkkiuk dc gqbZ \ 
 
 

1) tuojh] 1967  

2) uoEcj] 1966 

3) ekpZ] 1980  

4) tuojh] 1996 

  

89. When the Haryana State Co-

operative Agriculture and Rural 

Development Board Ltd. was 

established ? 

1) January, 1967  

2) November, 1966 

3) March, 1980  

4) January, 1996 

90. gfj;k.kk esa Hkkjrh; lwpuk izkS|ksfxdh 
laLFkku dgk¡ fLFkr gS \ 
 

1) lksuhir  

2) ikuhir 

3) vEckyk  

4) dq#{ks= 

  

90. Where in Haryana, the Indian 

Institute of Information Technology 

is located ? 

1) Sonipat  

2) Panipat 

3) Ambala  

4) Kurukshetra 
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HkkxHkkxHkkxHkkx – IV / PART – IV 

vFkZ'kkL=vFkZ'kkL=vFkZ'kkL=vFkZ'kkL=/ ECONOMICS 

funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr iz'uksa ds mÙkj nsus ds fy, lcls mfprlcls mfprlcls mfprlcls mfpr fodYi pqfu,A 
Direction :  Answer the following questions by selecting the most appropriate option. 

91. ßvko`fÙk vk;r fp=Þ ds laca/k esa dkSu-lk 
dFku vlR;vlR;vlR;vlR; gS \ 
1) bldk iz;ksx lrr Js.kh esa gksrk gSA 
2) ;fn oxkZUrjky lekos'kh gS] rks igys 

mUgsa viothZ Js.kh esa cnyuk pkfg,A 
 
 

3) lHkh vk;r ,d-nwljs ls lVs gq, cuk, 
tkrs gSaA 

4) vk;r fp=ksa dh lgk;rk ls lekUrj 
ek/; dk fu/kkZj.k fd;k tk ldrk gSA 

  

91. Which statement is false regarding 

"Frequency Histogram" ? 

1) It is used for continuous series.  

2) If class intervals are inclusive, 

then they should first be 

converted into exclusionary 

ranges.  

3) All the rectangles are made 

adjacent to each other. 

4) Arithmetic mean can be 

determined with the help of 

histograms.  

92. Hkkjr esa gfjr Økafr dc viukbZ xbZ \ 
 
1) [kjhQ Qly 1966 
2) jch Qly 1965 
3) jch Qly 1966 
4) [kjhQ Qly 1964 

  

92. When was the Green Revolution 

adopted in India ? 

1) Kharif crop 1966 

2) Rabi crop 1965 

3) Rabi crop 1966 

4) Kharif crop 1964 

93. ekSle lekpkjksa esa ßnSfud vf/kdre-U;wure 
rkiekuÞ ds :i esa fdl lkaf[;dh; midj.k 
dk mi;ksx gksrk gS \ 
1) izeki fopyu 
2) lglEcU/k 
3) foLrkj 
4) lwpdkad 

  

93. Which statistical tool is used in 

weather news as "daily maximum-

minimum temperature" ? 

1) Standard deviation  

2) Correlation  

3) Range  

4) Index Number  
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94. lektoknh vFkZO;oLFkk dk dkSu-lk xq.k ughaughaughaugha 
gS \ 
1) vkfFkZd lk/kuksa dk Js"Bre mi;ksx 
2) O;kikj pØksa ls eqfDr 
3) miHkksDrk dh lkoZHkkSfedrk  
4) fu;kstu izkf/kdj.k  

  

94. Which is not a quality of socialist 

economy ? 

1) Best use of economic resources 

2) Freedom from business cycles  

3) Consumer universality  

4) Planning authority 

95. fuEufyf[kr esa ls fu/kZurk fuokj.k dk etnwjh 
jkstxkj dk;ZØe dkSu-lk ughaughaughaugha gS \ 
 
1) dke ds cnys vukt dk;ZØe 
2) VªkbZlse 
3) tokgj jkstxkj ;kstuk 
4) ujsxk 

  

95. Which of the following is not a 

wage employment program for 

poverty alleviation ?  

1) Food for work program  

2) TRYSEM 

3) Jawahar Rojgar Yojna 

4) NREGA 

96. tc iw¡th dh lhekUr dk;Zdq'kyrk] C;kt 
dh nj ls vf/kd gksrh gS] rc % 
 
1) fuos'k _.kkRed gksrk gS 
2) fuos'k 'kwU; gksrk gS 
3) fuos'k /kukRed gksrk gS 
4) fuos'k vuUr gksrk gS 

  

96. When the Marginal Efficiency of 

Capital (MEC) is greater than the 

rate of interest, then : 

1) Investment is negative 

2) Investment is zero 

3) Investment is positive 

4) Investment is infinite 

97. 1991 esa izkjaHk fd;s x;s vkfFkZd lq/kkjksa ds 
QyLo:i phu dh MfEiax dk Hkkjrh; 
vFkZO;oLFkk ds fdl {ks= ij lcls [krjukd 
izHkko iM+k \ 
1) Ñf"k {ks= 
2) o`gn~ m|ksx {ks= 
3) ,e0 ,l0 ,e0 bZ0 {ks= 
4) lsok {ks= 

  

97. As a result of the economic reforms 

started in 1991, China's dumping had 

the most dangerous impact on which 

sector of the Indian economy ?  

1) Agriculture Sector 

2) Large Industry Sector 

3) MSME Sector 

4) Service Sector 
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98. mRiknu dh f}rh; voLFkk dks Js"B D;ksa 

ekurs gSa \ 

1) ifjorZu'khy lk/ku dk lhekUr mRiknu 

c<+rk gqvk gksrk gSA 

2) dqy mRiknu c<+rh gqbZ nj ls c<+rk 

gSA 

3) fLFkj lk/ku dh c<+rh gqbZ dk;Z dq'kyrk 

dk ykHk mBkus ds fy,A 

 

4) lhekUr] dqy vkSj vkSlr mRiknu 

c<+rs gq, gksrs gSaA 

  

98. Why does the second stage of 

production consider as best stage ? 

1) The marginal product of a 

variable factor increases.  

2) Total production increases at 

an increasing rate.  

3) To take advantage of the 

increased efficiency of fix 

(stationary) factor.   

4) Marginal, total and average 

products are increasing.  

99. ,d leksRifÙk oØ ij % 

1) mRifÙk dh ek=k fLFkj ,oa lk/ku 

vuqikr ifjorZu'khy gksrs gSaA 

 

2) mRifÙk dh ek=k vkSj lk/ku vuqikr 

nksuksa fLFkj gksrs gSaA 

3) mRifÙk dh ek=k vkSj lk/ku vuqikr 

nksuksa ifjorZu'khy gksrs gSaA 

4) mRifÙk dh ek=k ifjorZu'khy ,oa lk/ku 

vuqikr fLFkj gksrs gSaA 

  

99. On an Iso-quant curve : 

1) The quantity of production is 

constant and the factor ratio is 

variable.  

2) Both the quantity of production 

and factor ratio are constant. 

3) Both the quantity of production 

and factor ratio are variable.  

4) The quantity of production is 

variable and the factor ratio is 

constant.  
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100. csjkstxkjh ds ekiu esa ßekud ekuo o"kZÞ 
ls D;k vfHkizk; gS \ 
 
1) 6 ?k.Vs izfrfnu ds fglkc ls 261 

fnuksa dk jkstxkj 
2) 8 ?k.Vs izfrfnu ds fglkc ls 273 

fnuksa dk jkstxkj 
3) 10 ?k.Vs izfrfnu ds fglkc ls 313 

fnuksa dk jkstxkj 
4) 4 ?k.Vs izfrfnu ds fglkc ls 365 

fnuksa dk jkstxkj 

  

100. What is meant by "Standard Person 

Year" in measurement of 

unemployment ? 

1) 261 days of employment at 6 

hours per day 

2) 273 days of employment at 8 

hours per day 

3) 313 days of employment at 10 

hours per day 

4) 365 days of employment at 4 

hours per day 

101. cktkj dher vkSj lkekU; dher ds laca/k 
esa fuEukafdr dFkuksa ij fopkj dhft, % 
 
(i) cktkj dher vfrvYidky vkSj 

lkekU; dher nh?kZdky ls lacaf/kr 
gksrh gSA 

(ii) cktkj dher ds fu/kkZj.k esa ek¡xi{k 
dh iz/kku Hkwfedk gksrh gS] tcfd 
lkekU; dher iwfrZ ls vf/kd izHkkfor 
gksrh gSA 

lghlghlghlgh    fodYi pqusa % 
1) nksuksa dFku lgh gSaA dFku (ii) dFku (i) 

dh mfpr O;k[;k djrk gSA 
 

2) nksuksa dFku lgh gSaA dFku (ii) dFku (i) 
dh mfpr O;k[;k ugha djrk gSA 
 

3) dsoy dFku (i) lgh gSA 
4) dsoy dFku (ii) lgh gSA 

  

101. Consider the following statements 

regarding market price and normal 

price : 

(i) Market price is related to very 

short term and normal price is 

related to long term.  
(ii) Demand side plays a major role 

in determining the market price 

whereas the normal price is 

more influenced by supply. 
Choose the correct option : 

1) Both statements are correct. 

statement (ii) is proper 

explanation of statement (i). 

2) Both statements are correct. 

statement (ii) is  not proper 

explanation of statement (i). 

3) Only statement (i) is correct.  
4) Only statement (ii) is correct. 
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102. dFku vkSj dkj.k ij fopkj dhft, % 

dFku %dFku %dFku %dFku %    vk/kqfud ykxr fl)kUr esa vkSlr 
ykxr vaxzsth ds ;w-vkdkj dh u 
gksdj ,y-vkdkj dh gksrh gSA 

dkj.k %dkj.k %dkj.k %dkj.k %    VsDuksykWth esa lq/kkj djds Ðkleku 
izfrQy dh fØ;k'khyrk ,oa izo`fÙk 
dks jksdk tk ldrk gSA 
 
 

1) dFku lgh gS fdUrq dkj.k xyr gSA 
 

2) nksuksa] dFku ,oe~ dkj.k xyr gSaA 
 

3) dFku ,oe~ dkj.k nksuksa lgh gSaA dkj.k] 
dFku dh mi;qDr O;k[;k ugha djrk 
gSA 
 

4) dFku ,oe~ dkj.k nksuksa lgh gSaA 
dkj.k] dFku dh mi;qDr O;k[;k 
djrk gSA 

  

102. Consider the statement and reason : 

Statement : In modern cost theory, 

Average cost is not U-

shaped but L-shaped.  

Reason : By improving 

technology, the 

efficiency and trend of 

diminishing returns can 

be stopped.  

1) The statement is correct but the 

reason is wrong.  

2) Both statement and reason are 

wrong.  

3) Both statement and reason are 

correct. Reason does not give 

appropriate explanation to the 

statement.  

4) Both statement and reason are 

correct. Reason gives appropriate 

explanation to the statement.  

103. Hkkjr esa fdu nks izeq[k i;kZoj.kh; fparkvksa 
ls fuiVus ds fy, dsUnzh; iznw"k.k fu;a=.k 
cksMZ (1974) dh LFkkiuk dh xbZ \ 
 

1) e`nk ,oa /ofu iznw"k.k 

2) ok;q ,oa ty iznw"k.k 

3) ok;q ,oa /ofu iznw"k.k 

4) leqnz ,oa varfj{k lfgr lHkh iznw"k.k 

  

103. To deal with which two major 

environmental concerns in India, 

the Central Pollution Control Board 

(1974) was established ? 

1) Soil and noise pollution 

2) Air and water pollution 

3) Air and noice pollution 

4) All types of pollution including 

sea and space 
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104. Hkkjr ,d fodkl'khy vFkZO;oLFkk gS] blesa 
cktkj dk dkSu-lk :i lcls T;knk ns[kk 
tkrk gS \ 

1) iw.kZ izfr;ksfxrk  

2) vYikf/kdkj  

3) ,dkf/kdkj 

4) };kf/kdkj  

  

104. India is a developing economy, 

which form of market is most 

commonly seen in it ? 

1) Perfect competition  

2) Oligopoly  

3) Monopoly 

4) Duopoly  

105. ijLij lqesfyr dhft, % 

    vk; ykspvk; ykspvk; ykspvk; yksp    oLrq dh izÑfroLrq dh izÑfroLrq dh izÑfroLrq dh izÑfr    

(i) 'kwU; ¼v½ vko';d oLrq 

(ii) /kukRed ¼c½ lkekU; oLrq 

(iii) _.kkRed ¼l½ ?kfV;k oLrq 

 
dkSu-lk fodYi lghlghlghlgh gS \ 
1) (i-v) (ii-c) (iii-l) 

2) (i-v) (ii-l) (iii-c) 

3) (i-c) (ii-l) (iii-v) 

4) (i-l) (ii-c) (iii-v) 

  

105. Match each other : 

 Income 

elasticity 

 Nature of 

goods 

(i) Zero (a) Essential goods 

(ii) Positive (b) Normal goods 

(iii) Negative (c) Inferior goods 

Which option is correct ? 

1) (i-a) (ii-b) (iii-c) 

2) (i-a) (ii-c) (iii-b) 

3) (i-b) (ii-c) (iii-a) 

4) (i-c) (ii-b) (iii-a) 

106. fuEufyf[kr esa ls dkSu-lh izkFkfed leadksa 
ds ladyu dh jhfr ughaughaughaugha    gS \ 
1) izx.kdksa }kjk lwpuk izkIr djuk  

2) lwpdksa }kjk vuqlwfp;k¡ Hkjokdj lwpuk 
izkIr djuk 

3) vk;ksxksa dh fjiksVksZa ls lwpuk izkIr 
djuk 

4) izR;{k O;fDrxr vuqla/kku  

  

106. Which of the following is not a 

method of collecting primary data ?  

1) Information through enumerators  

2) Information through schedules 

to be filled by the informants  

3) Obtaining information from 

reports of commissions  

4) Direct personal investigation 
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107. lekUrj ek/; ls fy, x, fofHkUu in ewY;ksa 
ds fopyuksa dk ;ksx lnSo gksrk gS % 
 
1) 'kwU; 
2) /kukRed 

3) ,d  
4) ±1 

  

107. The sum of the deviations of 

different values taken from the 

arithmetic mean is always : 

1) Zero 

2) Positive 

3) One 

4) ±1 

108. fujh{k.k jhfr ,oe~ lewgu jhfr dh 
lgk;rk ls fdl ek/; dh x.kuk dh tk 
ldrh gS \ 
1) X  
2) Z 

3) M 
4) HM 

  

108. Which mean can be calculated with 

the help of inspection method and 

grouping method ? 

1) X  
2) Z 

3) M 
4) HM 

109. ;fn Hkkjrh; iq#"kksa esa ls 40% f'kf{kr gSa] 
rks bls o`Ùk-fp= esa n'kkZus ds fy, fdrus 
fMxzh dk mi;ksx fd;k tk;sxk \ 
1) 144° 

2) 180° 

3) 72° 

4) 40° 

  

109. If 40% of Indian men are educated, 

how many degrees will be used to 

represent it in the pie-diagram ?  

1) 144° 

2) 180° 

3) 72° 

4) 40° 

110. ßizkoSfxd xq.kdÞ fopkj djrk gS % 
1) dsoy Lok;Ùk fuos'k ij 
2) dsoy izsfjr fuos'k ij 
3) lacaf/kr pjksa esa ifjorZuksa ds le; iFk 

ij 
4) dher LQhfr ij 

  

110. "Dynamic multiplier" considers : 

1) Only on autonomous investment 

2) Only on motivated investment 

3) On the time path of changes in 

related variables  

4) On price inflation 
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111. fdl vFkZ'kkL=h us vFkZ'kkL= dks ßlkekftd 
foKkuksa dh jkuhÞ dgk Fkk \ 
1) fgDl 
2) ek'kZy 

3) lSE;q,Ylu  
4) dhUl 

  

111. Which economist called economics 

"the queen of social sciences" ? 

1) Hicks  

2) Marshall 

3) Samuelson  

4) Keynes 

112. ns'k dh eqnzk ds voewY;u ls % 
 
1) vk;kr lLrs vkSj fu;kZr eg¡xs gks tkrs 

gSaA 
2) vk;kr eg¡xs vkSj fu;kZr lLrs gks tkrs 

gSaA 
3) vk;kr vkSj fu;kZr nksuksa eg¡xs gks tkrs 

gSaA 
4) vk;kr vkSj fu;kZr nksuksa lLrs gks tkrs 

gSaA 

  

112. Due to devaluation of the country's 

currency : 

1) Imports become cheaper and 

exports become expensive.  

2) Imports become expensive 

and exports become cheaper. 

3) Import and export both become 

expensive. 

4) Import and export both become 

cheaper.  

113. ß,e0 vkj0 ,l0Þ ¼izfrLFkkiUu dh 
lhekar nj½ ds ckjs esa dkSu-lk dFku lgh 
ughaughaughaugha    gS \ 
1) ,e0 vkj0 ,l0 ds ?kVus ds dkj.k 

ls gh rVLFkrk oØ ewyfcUnq ds izfr 
urksnj gksrs gSaA 

2) ,e0 vkj0 ,l0 rVLFkrk oØ ds 
fdlh Hkh fcUnq ij mlds _.kkRed 
<ky ls izkIr gksrh gSA 

3) ,e0 vkj0 ,l0 ,d gh rVLFkrk oØ 
ij gksus okyh xfr'khyrk ls ifjHkkf"kr 
gksrh gSA 

4) ,e0 vkj0 ,l0 dHkh Hkh fofHkUu 
rVLFkrk oØksa ds chp dh xfr'khyrk ls 
ifjHkkf"kr ugha gksrh gSA 

  

113. Which statement is not correct 

about "MRS" (Marginal Rate of 

Substitution) ? 

1) Due to the decrease of MRS the 

IC become concave towards 

the origin. 

2) MRS is obtained from the 

negative slope of the IC at any 

point.  

3) MRS is defined by the 

movements occurring on the 

same IC. 

4) MRS is never defined by the 

movements between different 

IC's.  
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114. th0 ,u0 ih0 ds O;; ǹf"Vdks.k ds vuqlkj 

futh vafre miHkksx O;; esa dkSu-lh en 

lfEefyr ughaughaughaugha gksrh gS \ 

 

1) [kk|kUuksa ds mRiknu dk ewY;] tks 

fdlku Lo;a miHkksx dj ysrs gSaA 

  

2) etnwfj;k¡ vkSj osru] tks O;fDr;ksa dks 

oLrqvksa ds :i esa izkIr gksrh gSaA 

 

3) edkuksa dks Lo;a ds fuokl ds fy, 

miHkksx dk fdjk;k ewY;A 

4) x`fgf.k;ksa dh vius ifjokj ds lnL;ksa 

ds fy, dh xbZ lsok,¡A 

  

114. According to the expenditure 

approach of GNP, which item is not 

included in private final consumption 

expenditure ?  

1) The value of production of 

food grains, which the farmers 

themselves consume.  

2) Wages and salaries, which 

individuals receive in form of 

kind.  

3) Rental value of houses for own 

residence.  

4) Services rendered by 

housewives to their family 

members.  

115. ßizR;sd vFkZO;oLFkk ds le{k rhu izeq[k 

leL;k,¡ gksrh gSa ftudk lEcU/k D;k] dSls 

vkSj fdlds fy, ls gksrk gSAÞ ;g dFku 

fuEufyf[kr esa ls fdl vFkZ'kkL=h dk gS \ 

 

1) fgDl 

2) ek'kZy 

3) lSE;q,Ylu 

4) VkWfcu  

  

115. "Every economy faces three major 

problems which are related to what, 

how and for whom." This statement 

is of which of the following 

economists ?  

1) Hicks 

2) Marshall 

3) Samuelson  

4) Tobin  
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116. nqyZHkrk ds lalkj esa ,d oLrq dk pquko 

djus ls fdlh nwljh oLrq dk ifjR;kx 

djuk gksrk gSA fdlh Hkh R;kxh xbZ oLrq ;k 

lsok dk ewY; ml fu.kZ; dh …………. 

ykxr dgykrk gSA 

1) volj  

2) okLrfod 

3) ekSfnzd  

4) izR;{k  

  

116. In the world of scarcity, choosing 

one good means giving up another 

good. The value of any given good 

or service is called the …………. 

cost of that decision.  

1) Opportunity  

2) Real 

3) Monetary  

4) Direct 

117. vFkZ'kkL= dh izÑfr D;k gS \ 

1) vFkZ'kkL= okLrfod foKku gSA 

 

2) vFkZ'kkL= vkn'kkZRed foKku gSA 

 

3) vFkZ'kkL= dyk gSA 

4) vFkZ'kkL= dyk ,oa foKku nksuksa gSA 

  

117. What is the nature of Economics ? 

1) Economics is a positive (real) 

science. 

2) Economics is a normative 

science. 

3) Economics is art. 

4) Economics is both art and 

science.  

118. ßvf/keku ekiÞ dk lEcU/k fdlls ugha  ugha  ugha  ugha  
gS \ 

1) miHkksDrk dh #fp vkSj ilan ls 

 

2) rVLFkrk oØ ls 

3) miHkksDrk dh larqf"V ls 

4) oLrq dh dher ls 

  

118. "Scale of Preference" is not related 

to :  

1) Consumer's taste and 

preference  

2) Indifference curve  

3) Consumer satisfaction 

4) The price of the item 
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119. fuEufyf[kr esa ls dkSu-lk iz'u ^O;f"V 
vFkZ'kkL=* ls lEcfU/kr ughaughaughaugha    gS \ 
1) mRiknu ds lk/kuksa dk izfrQy dSls 

fu/kkZfjr gksxk \ 

2) ,d QeZ oLrq dh nh gqbZ dher ij 
fdruk mRiknu djsxh \ 

3) fofHkUu mi;ksxksa esa mRiknu ds lk/kuksa 
dk vkcaVu dSls gksxk \ 
 

4) iw.kZ jkstxkj dSls izkIr fd;k tk ldrk 
gS \ 

  

119. Which of the following question is 

not related to 'Microeconomics' ? 

1) How will the returns to factors 

of production be determined ? 

2) How much will a firm produce 

at a given price of a product ? 

3) How will the factors of 

production be allocated among 

different uses ? 

4) How can full employment be 

achieved ? 

120. vFkZ'kkL= ds v/;;u dh izÑfr ds :i esa 
ßrarq tkyÞ gS % 

1) izkoSfxd fo'ys"k.k 

2) LFkSfrd fo'ys"k.k 

3) rqyukRed LFkSfrd fo'ys"k.k 

4) le; rÙo jfgr fo'ys"k.k 

  

120. "The Cobweb" as a method of 

studying economics is : 

1) Dynamic analysis  

2) Static analysis 

3) Comparative static analysis 

4) Analysis without time element 

121. fuEufyf[kr dks lqesfyr dhft, % 

(i) iz'ukoyh ¼v½ izkFkfed lead 

(ii) ykWVjh jhfr ¼c½ f}rh;d lead 

(iii) lekpkj-i= ¼l½ izfrn'kZ p;u 

lghlghlghlgh    fodYi pqusa % 

1) (i-v) (ii-c) (iii-l) 

2) (i-v) (ii-l) (iii-c) 

3) (i-c) (ii-v) (iii-l) 

4) (i-l) (ii-c) (iii-v) 

  

121. Match the following : 

(i) Questionnaire (a) Primary data  

(ii) Lottery method (b) Secondary data 

(iii) Newspaper (c) Sampling 

Choose the correct option : 

1) (i-a) (ii-b) (iii-c) 

2) (i-a) (ii-c) (iii-b) 

3) (i-b) (ii-a) (iii-c) 

4) (i-c) (ii-b) (iii-a) 
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122. dkSu-lk lwpdkad xq.kksÙkj ek/; ij vk/kkfjr 
gS \ 
1) fQ'kj dk lwpdkad 
2) ik'ks dk lwpdkad 

3) ySLis;j dk lwpdkad 
4) ckmys dk lwpdkad 

  

122. Which index is based on geometric 

mean ? 

1) Fisher's index 

2) Paasche's index 

3) Laspeyre's index 

4) Baule's index 

123. O;kikj 'ks"k esa ?kkVs dks fdl izdkj nwj 
fd;k tk ldrk gS \ 
1) voewY;u  
2) eqnzkLQhfr dks c<+kdj  
3) fu;kZrksa dks grksRlkfgr djds 
4) vk;krksa dks c<+kdj 

  

123. How can the deficit in trade balance 

be eliminated ? 

1) Devaluation  

2) By increasing inflation  

3) Discouraging exports  

4) By increasing imports 

124. Hkkjrh; fjt+oZ cSad dh ekSfnzd uhfr dk 
eq[; mís'; dkSu-lk ughaughaughaugha  gS \ 
1) dher fLFkjrk dks izkIr djukA 
2) vkfFkZd o`f) dks izksRlkfgr djukA 
3) eqnzk dh mRikndrk dks vf/kdre djukA 

 
4) #i;s dh fons'kh fofue; nj esa fLFkjrk 

ykukA  

  

124. Which is not the main objective of 

the monetary policy of the RBI ? 

1) Achieving price stability. 

2) Encourage economic growth. 

3) Maximizing the productivity of 

money.  

4) Stabilizing the foreign exchange 

rate of rupee.  

125. fczfV'k 'kklu dky esa loZizFke Hkkjr dh 
rqY;dkfyd tux.kuk ……….. esa gqbZ Fkh] 
bl tux.kuk ds vuqlkj ml le; Hkkjr 
dh tula[;k ……….. FkhA 
 
1) 1872 - 15.4 djksM+ 
2) 1881 - 35.4 djksM+ 
3) 1881 - 25.4 djksM+ 
4) 1872 - 35.4 djksM+ 

  

125. During the British rule, the first 

synchronous census of India was 

conducted in ………., according to 

this census the population of India 

at that time was ………. . 

1) 1872 - 15.4 Crores 
2) 1881 - 35.4 Crores 

3) 1881 - 25.4 Crores 
4) 1872 - 35.4 Crores 
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126. ßvkn'kZ ek/;Þ dh fo'ks"krk dkSu-lh ugha ugha ugha ugha 
gS \ 
1) vkn'kZ ek/; dks lqLi"V ifjHkkf"kr 

gksuk pkfg,A 

2) ;g lHkh inewY;ksa ij vk/kkfjr gksuk 
pkfg,A  

3) ;g pje ewY;ksa ls lokZf/kd izHkkfor 
gksuk pkfg,A 

4) ;g vU; chtxf.krh; foospu esa 
lgk;d gksuk pkfg,A  

  

126. Which is not a characteristic of the 

"Ideal Mean" ? 

1) The ideal mean should be 

clearly defined.  

2) It should be based on all 

values.  

3) It should be most affected by 

the extreme values.  

4) This should be helpful in other 

algebraic interpretations.  

127. vfuorhZ ¼jSpsV½ izHkko ls vfHkizk; gS % 

1) vk; esa o`f) ds lkFk lhekar miHkksx 
izo`fÙk ?kVrh gSA 

2) vk; esa o`f) ds lkFk lhekar miHkksx 
izo`fÙk c<+rh gSA 

3) vk; esa o`f) ds lkFk lhekar miHkksx 
izo`fÙk vifjofrZr jgrh gSA 

4) tc vk; esa deh gksrh gS] rks miHkksx 
O;; esa mlds vuq:i deh ugha 
gksrh gSA 

  

127. "Ratchet effect" means : 

1) MPC decreases with increase 

in income.  

2) MPC increases with increase 

in income. 

3) MPC remains unchanged with 

increase in income.  

4) When there is a decrease in 

income, there is no corresponding 

decrease in consumption.  

128. okf.kfT;d cSad dh ifjHkk"kk % ßcSad lk[k dk 
,d fuekZrk rFkk fofue; dks lqfo/kktud 
cukus okyk la;a= gSAÞ fdlus nh Fkh \ 
 
1) fQ.Mys f'kjkt  
2) ,e0 ,y0 f>axu 
3) ØkmFkj 
4) ls;lZ 

  

128. Definition of Commercial Bank : "A 

bank is a manufacturer of credit 

and a instrument for facilitating 

exchange." Who gave it ? 

1) Findlay Shirras  

2) M. L. Jhingan  

3) Crowther  

4) Sayers  
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129. fuxeu fof/k ls vfHkizk; gS % 
1) dsoy HkkSfrd rÙoksa dk v/;;u 
2) dsoy ekuoh; ;k lkekftd rF;ksa dk 

v/;;u 
3) lkekU; ls fof'k"V fu"d"kZ dh vksj 
4) fof'k"V fu"d"kZ ls lkekU; Lo;afl) 

rF;ksa dh vksj 

  

129. Deductive method means : 

1) Study of physical elements only 

2) Study of only human or social 

facts  

3) From general to particular 

4) From particular conclusions to 

general axioms  

130. vk/kkfjd lajpukRed lqfo/kk,¡ ,d ns'k ds 
vkfFkZd fodkl esa ;ksxnku djrh gSa % 
 
I. mRiknu ds rÙoksa dh mRikndrk esa 

o`f) djdsA 
II. jkT; vkSj dsUnz dh ljdkjksa dks 

LFkkf;Ro iznku djdsA 
III. ns'k dh turk ds thou dh xq.koÙkk esa 

lq/kkj djdsA 
1) I vkSj II 
2) I vkSj III 
3) II vkSj III 
4) dsoy I 

  

130. Infrastructure contributes to the 

economic development of a country 

by : 

I. Increasing the productivity of 

factors of production. 
II. Providing stability to the state 

and centre government.  
III. Improving the quality of life of 

the people of the country.  
1) I and II 
2) I and III 

3) II and III 
4) Only I 

131. ßlar`fIr fcUnqÞ ls D;k vfHkizk; gS \ 
1) ftl fcUnq ij lhekUr mi;ksfxrk 

vf/kdre gks tkrh gSA 
2) ftl fcUnq ij dqy mi;ksfxrk vf/kdre 

gks tkrh gSA 
3) ftl fcUnq ij lhekUr mi;ksfxrk 

U;wure gks tkrh gSA 
4) ftl fcUnq ij dqy mi;ksfxrk U;wure 

gks tkrh gSA 

  
131. What is meant by "Saturation Point" ? 

1) The point at which marginal 

utility is maximized.  

2) The point at which total utility 

is maximized. 

3) The point at which marginal 

utility is minimized. 

4) The point at which total utility 

is minimized. 



  [ 39 / A ] 

[ Level-3 / 1308 ]  P. T. O. 

132. vFkZ'kkL= ds fl)kUrksa dh izeq[k fof/k  

dkSu-lh gS \ 

1) vkxeu-fuxeu fof/k  

2) bfrgkl ys[ku fof/k 

3) fu;af=r iz;ksx fof/k 

4) dgkuh dFku fof/k 

  

132. What is the main method of 

principles of Economics ? 

1) Inductive-Deductive method 

2) History writing method 

3) Controlled experiment method 

4) Story telling method  

133. th0 ,u0 ih0 fM¶ysVj mi;ksxh gksrk gS % 

1) th0 ,u0 ih0 esa ls tula[;k dk 
izHkko gVkus ds fy, 

2) th0 ,u0 ih0 esa ls dherksa esa o`f) 
dk izHkko gVkus ds fy, 

3) th0 ,u0 ih0 esa ls nksgjh x.kuk dk 
izHkko gVkus ds fy, 

4) jk"Vªh; vk; esa ls fiNys o"kksZa ds 
mRiknu dks gVkus ds fy, 

  

133. GNP deflator is useful to : 

1) Remove the effect of population 

from GNP 

2) Remove the effect of rising 

prices from GNP 

3) Remove the effect of double 

calculation from GNP 

4) Remove previous years 

production from National Income 

134. dFku dFku dFku dFku (I) : fdlh le; fcUnq ij ^ljdkjh 

_.k* ,d LVkWd ¼Hk.Mkj½ dh 

vo/kkj.kk gSA 

dFkudFkudFkudFku (II) : fdlh o"kZ esa ^ctV dk ?kkVk* 

,d izokg pj gSA 
 

1) nksuksa dFku xyr gSaA 

2) nksuksa dFku lgh gSaA 

3) dsoy dFku (I) lgh gSA 

4) dsoy dFku (I) xyr gSA 

  

134. Statement (I) : At some point of 

time 'Public debt' 

is a stock concept. 

Statement (II) : In a given year 

'Budget deficit' is 

a flow variable.  

1) Both statements are wrong. 

2) Both statements are correct. 

3) Only statement (I) is correct. 

4) Only statement (I) is wrong. 
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135. [kk| miyC/krk fuHkZj djrh gS % 

1) vkiwfrZ Ük`a[kyk ij  

2) [kk| jf{krdks"k ij 

3) [kk|kUuksa ds vk;kr ij  

4) lHkh fodYi lgh gSa 

  

135. Food availability depends on : 

1) Supply chains  

2) Food reserves  

3) Import of food grain 

4) All options are right  

136. vkj vkj vkj vkj - I : tehankjh izFkk Ñf"k fodkl vkSj 

lkekftd U;k; ds fy, 

vuqiz;qDr FkhA 

 

vkj vkj vkj vkj - II : Hkwfe dk LokfeRo e/;LFkksa ds 

ikl Fkk] tks yxku olwydj 

Ñf"k dk;Z djokrs FksA 

 

lghlghlghlgh fodYi pqusa % 

1) vkj - I ,oa vkj - II nksuksa lgh ugha 

gSaA 

2) dsoy vkj - II lgh gSA 

3) vkj - I ,oa vkj - II nksuksa lgh gSaA 

vkj - II] vkj - I dh lgh O;k[;k 

djrk gSA 

4) vkj - I ,oa vkj - II nksuksa lgh gSa 

ysfdu vkj - II] vkj - I dh lgh 

O;k[;k ugha djrk gSA 

  

136. R - I : The Zamindari system was 

unsuitable for agricultural 

development and social 

justice. 

R - II : The land was owned by 

the middlemen who got the 

agricultural work done by 

charging Lagaan. 

Choose the correct option :  

1) Both R - I and R - II are not 

correct.  

2) Only R - II is correct. 

3) Both R - I and R - II are correct. 

R - II correctly explains R - I. 

 

4) Both R - I and R - II are correct 

but R - II does not explain R - I 

correctly.  
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137. fuEufyf[kr esa ls dkSu-lk ,d] fn, gq, 

vk¡dM+ksa dk vUrj prqFkZd ifjlj ¼foLrkj½ 

gS \ 

25, 28, 35, 38, 45, 46, 52, 56, 58, 59, 61 

1) 23 

2) 24 

3) 35 

4) 46 

  

137. Which one of the following is the 

interquartile range of the given 

data ?  

25, 28, 35, 38, 45, 46, 52, 56, 58, 59, 61 

1) 23 

2) 24 

3) 35 

4) 46 

138. izkjafHkd Hkkjrh; vkfFkZd fu;kstu ds laca/k 

esa vlR;vlR;vlR;vlR; dFku Nk¡fV;s % 

1) Hkkjr esa loZizFke lj ,e0 fo'os'ojS;k 

us 1934 esa iapo"khZ; ;kstuk cukbZA 

 

2) fo'os'ojS;k us ^Iyk.M bdksukWeh QkWj 

bf.M;k* uked iqLrd fy[khA 

 

3) fo'os'ojS;k dks Hkkjrh; fu;kstu dk 

firk dgrs gSaA  

4) fo'os'ojS;k us Je dks Ñf"k ls ?kVkdj 

m|ksxksa esa dsfUnzr djus dk izLrko 

fn;kA 

  

138. Select the false statement regarding 

early Indian economic planning : 

1) In India, Sir M. Visvesvaraya 

first made a five-year plan in 

1934. 

2) Visvesvaraya wrote a book 

named 'Planned Economy for 

India'.  

3) Visvesvaraya is called the father 

of Indian planning.  

4) Visvesvaraya proposed to 

reduce labour from agriculture 

and concentrate it in industries.  
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139. xsgw¡ dh ubZ fdLesa & 'kjcrh lksuk vkSj iwlk 

yjek] tks gfjr Økafr dk vk/kkj Fkha] 

fdlus fodflr dh \ 

 

1) fofy;e xkWM 

2) lh0 lqcze.;e 

3) ,e0 ,l0 LokehukFku  

4) ukWjeu cksjykWx  

  

139. Who developed the new wheat 

varieties – Sharbati Sona and Pusa 

Lerma, which were the basis of 

Green Revolution ?   

1) William God 

2) C. Subramaniam  

3) M. S. Swaminathan  

4) Norman Borlaug  

140. ;fn ns'k ds ukxfjd] vk; esa gqbZ òf) dk 

20% cpr djrs gSa] rks xq.kd dk eku 

D;k gksxk \ 

1) 0.2  

2) 0.5 

3) 2.0  

4) 5.0 

  

140. If the citizens of a country save 20% 

of the increase in income, then what 

will be the value of the multiplier ?  

1) 0.2  

2) 0.5 

3) 2.0  

4) 5.0 

141. djkjksi.k dh fdl iz.kkyh esa /kfud oxZ ij 

lcls de ncko iM+rk gS \ 

1) fefJr 

2) izxfr'khy  

3) vkuqikfrd  

4) izfrxkeh 

  

141. In which system of taxation there is 

least pressure on the rich class ? 

1) Mixed 

2) Progressive 

3) Proportional 

4) Regressive 
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142. lglEcU/k xq.kkad Lora= gS % 

 

1) dsoy ewyfcUnq esa ifjorZu ls  

2) dsoy ekiuh esa ifjorZu ls 

3) u rks ewyfcUnq] u gh ekiuh esa 

ifjorZu ls 

4) ewyfcUnq vkSj ekiuh nksuksa esa ifjorZu 

ls 

  

142. Correlation coefficient is 

independent :  

1) By changing the origin only 

2) By changing the scale only 

3) Neither the origin nor the 

change in scale 

4) By changing both, the origin 

and scale  

143. dsUnzh; cSad }kjk [kqys cktkj esa izfrHkwfr;ksa 

dh fcØh dk laHkkfor ifj.kke D;k gksxk \ 

 

1) rjyrk vkSj C;kt nj esa o`f) 

 

2) rjyrk esa o`f) vkSj C;kt nj esa deh 

 

3) rjyrk vkSj C;kt nj esa deh 

 

4) rjyrk esa deh vkSj C;kt nj esa o`f) 

  

143. What would be the likely outcome 

of a sale of securities by the Central 

Bank in the open market ? 

1) Increase in liquidity and 

interest rates 

2) Increase in liquidity and 

reduction in interest rates  

3) Reduction in liquidity and 

interest rates  

4) Reduction in liquidity and 

increase in interest rates  
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144. f}{ks=h; ekWMy esa lk/kuksa ,oe~ oLrqvksa dk 

izokg fdu nks {ks=ksa ds e/; gksrk gS \ 

 

(i) ifjokj 

(ii) mRiknd QesZa 

(iii) ljdkj 

(iv) cká ns'k 

lghlghlghlgh fodYi pqfu;s % 

1) dsoy (i) vkSj (iii) lgh gSaA 

2) dsoy (i) vkSj (ii) lgh gSaA 

3) dsoy (iii) vkSj (iv) lgh gSaA 

4) dsoy (ii) vkSj (iii) lgh gSaA 

  

144. In the two-sector model, between 

which two sectors does the flow of 

factors and goods occur ?  

(i) Household  

(ii) Producing Firms  

(iii) Government 

(iv) Foreign Countries  

Choose the correct option : 

1) Only (i) and (iii) are correct. 

2) Only (i) and (ii) are correct. 

3) Only (iii) and (iv) are correct. 

4) Only (ii) and (iii) are correct. 

145. ßD;k gksuk pkfg,Þ fo"k;-oLrq gS % 

 

1) okLrfod foKku dh 

2) vkn'kkZRed foKku dh 

3) dyk dh 

4) lkaf[;dh dh  

  

145. "What should be" is the subject 

matter of : 

1) Positive (Real) Science 

2) Normative Science  

3) Arts 

4) Statistics  
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146. lhekUr ykxr fdl fLFkfr esa ?kVrh gS \ 
 

1) tc lerkeku izfrQy fey jgs gSaA 

2) tc Ðkleku izfrQy fey jgs gSaA 
 

3) tc o)Zeku izfrQy fey jgs gSaA 
 

4) lHkh izdkj ds izfrQy dh fLFkfr esaA 

  

146. Under what circumstances does 

marginal cost decrease ? 

1) When there are equal returns.  

2) When there are diminishing 

returns.  

3) When there are increasing 

returns.  

4) In case of all types of returns. 

147. fdlh oLrq dh ,d bdkbZ vkSj cspus ls 
dqy vk; esa tks o`f) gksrh gS] mls D;k 
dgrs gSa \ 

1) lhekUr mRikn 

2) lhekUr vkxe 

3) vkSlr mRikn 

4) vkSlr vkxe 

  

147. What is the increase in total 

revenue by selling one more unit 

of a product called ? 

1) Marginal product  

2) Marginal revenue  

3) Average product 

4) Average revenue 

148. ßlaxfBr {ks=dÞ esa dkSu lfEefyr gS \ 
 

I. lHkh lkoZtfud {ks=d izfr"BkuA  

II. 10 ;k vf/kd deZpkjh dks jkstxkj 
nsus okys futh {ks=d izfr"BkuA 
 

III. de ls de nks O;fDr;ksa }kjk ,d 
lkFk dk;Z djukA 

1) I vkSj III 

2) I vkSj II 

3) dsoy I 

4) I, II vkSj III lHkh 

  

148. Who is included in the "organized 

sector" ? 

I. All public sector establishments.  

II. Private sector establishments 

employing 10 or more 

employees.  

III. At least two people working 

together.  

1) I and III 

2) I and II 

3) Only I 

4) All I, II and III  
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149. fuEufyf[kr dFku vkSj dkj.k ds lEcU/k esa 

lghlghlghlgh    fodYi pqusa % 

dFku %dFku %dFku %dFku %    lk/kkj.kr;k mRiknu laHkkouk oØ 

(PPC) ewyfcUnq ds izfr urksnj 

gksrk gSA 

 

dkj.k %dkj.k %dkj.k %dkj.k %    bldk dkj.k o/kZeku lkis{k ykxr 

dk fu;e gksrk gSA 

  

1) nksuksa lgh gSa] dkj.k] dFku dh lgh 

O;k[;k djrk gSA 

2) dsoy dFku lgh gS] dkj.k lgh ugha 

gSA 

3) dsoy dkj.k lgh gS] dFku lgh ugha 

gSA 

4) dFku vkSj dkj.k nksuksa lgh gSa ysfdu 

dkj.k] dFku dh lgh O;k[;k ugha 

djrk gSA 

  

149. Select the correct option regarding 

the following statement and reason : 

Statement : Generally the Production 

Possibilities Curve (PPC) 

is concave towards the 

origin.  

Reason : The reason for this is 

the law of increasing 

relative cost.  

1) Both are correct, reason 

correctly explains the statement. 

2) Only statement is correct, 

reason is not correct.  

3) Only reason is correct, 

statement is not correct.  

4) Statement and reason both are 

correct but reason not correctly 

explains the statement.  

150. ,dkf/kdkjkRed izfr;ksfxrk esa dkSu-lh 

fo'ks"krk ughaughaughaugha    gksrh gS \ 

1) oLrq le:i 

2) dbZ Øsrk vkSj dbZ foØsrk 

3) ubZ QeksZa dk izos'k 

4) oLrq foHksn 

  

150. Which characteristic does not occur 

in monopolistic competition ?  

1) Identical product  

2) Many buyers and many sellers  

3) Entry of new firms  

4) Product discrimination  
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